

A Note on Multiplier Transformation

H. N. Kanthalakshmi and S. Latha

Department of Mathematics, Yuvaraja's College

University of Mysore, Mysore - 570 005, India

hn.kanthalakshmi@gmail.com

drlatha@gmail.com

Abstract. In the present paper, we define the class $\mathcal{T}_\lambda^m(\alpha, \beta, l)$ using the multiplier transformation. For functions belonging to this class we discuss coefficient estimates, inclusion relations, extreme points and some more properties.

Mathematics Subject Classification: 30C45

Keywords: Univalent functions, Multiplier transformation, Komato operator

1. INTRODUCTION

Let \mathcal{A} denote the class of functions $f(z)$ of the form

$$(1.1) \quad f(z) = z + \sum_{m=2}^{\infty} a_m z^m$$

which are analytic in the open unit disc $\mathcal{U} = \{z : |z| < 1\}$.

Let \mathcal{T} denote the subclass of \mathcal{A} in \mathcal{U} , consisting of analytic functions whose non-zero coefficients from the second onwards are negative. That is, an analytic function $f \in \mathcal{T}$ if it has a Taylor expansion of the form

$$(1.2) \quad f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (a_n \geq 0)$$

which are analytic in the open unit disc \mathcal{U} .

For $f \in \mathcal{A}$, multiplier transformation $I(m, \lambda, l)f(z)$ [3] defined by

$$I(m, \lambda, l)f(z) = z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k z^k, \quad m \in \mathbf{N}_0, \lambda, l \geq 0, j \in \mathbf{N}$$

Now using multiplier transformation, we define the subclass of \mathcal{T} .

Let $\mathcal{T}_\lambda^m(\alpha, \beta, l)$ be the subclass of \mathcal{T} consisting of functions which satisfy the conditions

$$(1.3) \quad \Re \left\{ \frac{z((I(m, \lambda, l)f)')}{\beta z(I(m, \lambda, l)f)' + (1 - \beta)I(m, \lambda, l)f} \right\} > \alpha,$$

for some α, β ($0 \leq \alpha, \beta < 1$), $\lambda, l \geq 0$ and $m \in \mathbf{N}_0$.

2. MAIN RESULTS

Theorem 2.1. *A function f defined by (1.2) is in the class $\mathcal{T}_\lambda^m(\alpha, \beta, l)$ if and only if*

$$(2.1) \quad \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [k - \alpha\beta k + \alpha\beta - \alpha] < 1 - \alpha,$$

where α, β ($0 \leq \alpha, \beta < 1$), $\lambda, l > 0$ and $m \in \mathbf{N}_0$.

Proof. Suppose $f \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$. Then

$$\Re \left\{ \frac{z(I(m, \lambda, l)f)'}{\beta z(I(m, \lambda, l)f)' + (1 - \beta)I(m, \lambda, l)f} \right\} > \alpha,$$

$$\Re \left\{ \frac{z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m k a_k z^k}{\beta \left[z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m k a_k z^k \right] + (1 - \beta) \left[z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k z^k \right]} \right\} > \alpha,$$

$$\Re \left\{ \frac{z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m k a_k z^k}{z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k z^k [\beta(k-1) + 1]} \right\} > \alpha.$$

Letting $z \rightarrow 1$, we get,

$$1 - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m k a_k > \alpha \left\{ 1 - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [\beta(k-1) + 1] \right\}.$$

Equivalently we have,

$$\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m k a_k - \alpha \left\{ \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [\beta(k-1) + 1] \right\} < (1 - \alpha)$$

which implies

$$\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [k - \alpha\beta k + \alpha\beta - \alpha] < (1 - \alpha).$$

Conversely, assume that (2.1) is true. We have to show that (1.3) is satisfied or equivalently

$$\left| \left\{ \frac{z(I(m, \lambda, l)f)'}{\beta z(I(m, \lambda, l)f)' + (1 - \beta)I(m, \lambda, l)f} \right\} - 1 \right| < 1 - \alpha.$$

Where

$$\begin{aligned} & \left| \left\{ \frac{z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m k a_k z^k}{z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k z^k [\beta(k-1) + 1]} \right\} - 1 \right| \\ &= \left| \frac{\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k (k-1)(\beta-1) z^k}{z - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [\beta(k-1) + 1] z^k} \right| \\ &\leq \frac{\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k (k-1)(\beta-1) |z^k|}{|z| - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [\beta(k-1) + 1] |z^k|} \\ &\leq \frac{\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k (k-1)(\beta-1)}{1 - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [\beta(k-1) + 1]} \end{aligned}$$

is bounded above by $1 - \alpha$ if

$$\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k (k-1)^{(\beta-1)} \leq (1-\alpha) \left(1 - \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [\beta(k-1) + 1] \right)$$

or

$$\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [k - \alpha\beta k + \alpha\beta - \alpha] < 1 - \alpha,$$

which is true by hypothesis. This completes the proof. \square

For $l = 0$, we get Theorem 2.1 of [5] as Corollary.

Corollary 2.2. *A function f defined by (1.2) is in the class $T_{\lambda}^m(\alpha, \beta, 0)$ if and only if*

$$\sum_{k=j+1}^{\infty} [1 + (k-1)\lambda]^m a_k [k - \alpha\beta k + \alpha\beta - \alpha] < 1 - \alpha.$$

where $\alpha, \beta (0 \leq \alpha, \beta < 1), \lambda > 0$ and $m \in \mathbb{N}_0$.

For $\lambda = 1, m = 0$ and $m = 1, \lambda = 1$ and $l = 0$ respectively in theorem 2.1 we have the following result of Mostafa [4].

Corollary 2.3. i. *A function $f(z)$ defined by (1.2) is in the class $\mathcal{T}_1^0(\alpha, \beta, l)$ if and only if*

$$\sum_{k=j+1}^{\infty} (k - \alpha\beta k + \alpha\beta - \alpha) a_k \leq 1 - \alpha.$$

ii. *A function $f(z)$ defined by (1.2) is in the class $\mathcal{T}_1^1(\alpha, \beta, 0)$ if and only if*

$$\sum_{k=j+1}^{\infty} k(k - \alpha\beta k + \alpha\beta - \alpha) a_k \leq 1 - \alpha.$$

Corollary 2.4. *If $f \in \mathcal{T}_{\lambda}^m(\alpha, \beta, l)$, then*

$$|a_k| \leq \frac{1 - \alpha}{\left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha]}.$$

Theorem 2.5. *Let $0 \leq \alpha < 1, 0 \leq \beta_1 \leq \beta_2 < 1, n \in \mathbb{N}_0$, then $\mathcal{T}_{\lambda}^m(\alpha, \beta_2, l) \subset \mathcal{T}_{\lambda}^m(\alpha, \beta_1, l)$.*

Proof. For $f \in \mathcal{T}_\lambda^m(\alpha, \beta_2, l)$. We have,

$$\begin{aligned} & \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [k - \alpha\beta_2k + \alpha\beta_2 - \alpha] \\ & \leq \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m a_k [k - \alpha\beta_1k + \alpha\beta_1 - \alpha] < 1 - \alpha. \end{aligned}$$

Hence $f \in \mathcal{T}_\lambda^m(\alpha, \beta_1, l)$. □

Theorem 2.6. Let $f \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$. Define $f_1(z) = z$ and

$$f_k(z) = z + \frac{1 - \alpha}{\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha]} z^k, \quad k = 2, 3, \dots,$$

for some $\alpha, \beta (0 \leq \beta < 1), n \in \mathbb{N}_0, \lambda > 0$ and $z \in \mathcal{U}$. $f \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$ if and only if f can be expressed as $f(z) = \sum_{k=1}^{\infty} \mu_k f_k(z)$ where $\mu_k \geq 0$ and $\sum_{k=1}^{\infty} \mu_k = 1$.

Proof. If $f(z) = \sum_{k=1}^{\infty} \mu_k f_k(z)$ with $\sum_{k=1}^{\infty} \mu_k = 1, \mu_k \geq 0$, then

$$\begin{aligned} & \sum_{k=j+1}^{\infty} \frac{\left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha] \mu_k}{\frac{\lambda(k-1) + l + 1}{l + 1} [k - \alpha\beta k + \alpha\beta - \alpha]} (1 - \alpha) \\ & \sum_{k=j+1}^{\infty} \mu_k (1 - \alpha) = (1 - \mu_1)(1 - \alpha) \\ & \leq (1 - \alpha). \end{aligned}$$

Hence $f \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$.

Conversely, let $f(z) = z - \sum_{k=2}^{\infty} a_k z^k \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$, define

$$\mu_k = \frac{\left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha] |a_k|}{(1 - \alpha)}, \quad k = 2, 3, \dots,$$

and define $\mu_1 = 1 - \sum_{k=2}^{\infty} \mu_k$. From Theorem 2.1, $\sum_{k=2}^{\infty} \mu_k \leq 1$ and hence $\mu_1 \geq 0$.

Since $\mu_k f_k(z) = \mu_k f(z) + a_k z^k$,

$$\sum_{k=1}^{\infty} \mu_k f_k(z) = z - \sum_{k=2}^{\infty} a_k z^k = f(z). \quad \square$$

Theorem 2.7. *The class $\mathcal{T}_{\lambda}^m(\alpha, \beta, l)$ is closed under convex linear combination.*

Proof. Let $f, g \in \mathcal{T}_{\lambda}^m(\alpha, \beta, l)$ and let

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k, \quad g(z) = z - \sum_{k=2}^{\infty} b_k z^k.$$

For η such that $0 \leq \eta \leq 1$, it suffices to show that the function defined by $h(z) = (1 - \eta)f(z) + \eta g(z)$, $z \in \mathcal{U}$ belongs to $\mathcal{T}_{\lambda}^m(\alpha, \beta, l)$. Now

$$h(z) = z - \sum_{k=2}^{\infty} [(1 - \eta)a_k + \eta b_k] z^k.$$

Applying Theorem 2.1, to $f, g \in \mathcal{T}_{\lambda}^m(\alpha, \beta, l)$, we have

$$\begin{aligned} & \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha] [(1 - \eta)a_k + \eta b_k] \\ &= (1 - \eta) \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha] a_k \\ &+ \eta \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha] b_k \\ &\leq (1 - \eta)(1 - \alpha) + \eta(1 - \alpha) = (1 - \alpha). \end{aligned}$$

This implies that $h \in \mathcal{T}_{\lambda}^m(\alpha, \beta, l)$. □

Corollary 2.8. *If $f_1(z), f_2(z)$ are in $\mathcal{T}_{\lambda}^m(\alpha, \beta, l)$ then the function defined by $g(z) = \frac{1}{2}[f_1(z) + f_2(z)]$ is also in $\mathcal{T}_{\lambda}^m(\alpha, \beta, l)$.*

Theorem 2.9. *Let for $i = 1, 2, \dots, k$, $f_i(z) = z - \sum_{m=k}^{\infty} a_{k,i} z^k \in \mathcal{T}_{\lambda}^m(\alpha, \beta, l)$ and*

$0 < \beta_i < 1$ such that $\sum_{i=1}^k \beta_i = 1$, then the function $F(z)$ defined by

$$F(z) = \sum_{i=1}^k \beta_i f_i(z) \text{ is also in } \mathcal{T}_{\lambda}^m(\alpha, \beta, l).$$

Proof. For each $i \in \{1, 2, 3, \dots, k\}$ we obtain

$$\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha] |a_k| < (1 - \alpha).$$

Since

$$\begin{aligned} F(z) &= \sum_{i=1}^k \beta_i \left(z - \sum_{k=j+1}^{\infty} a_{k,i} z^k \right) \\ &= z - \sum_{k=j+1}^{\infty} \left(\sum_{i=1}^k \beta_i a_{k,i} \right) z^k. \end{aligned}$$

$$\begin{aligned} &\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha] \left[\sum_{i=1}^k \beta_i a_{k,i} \right] \\ &= \sum_{i=1}^k \beta_i \left[\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1) + l + 1}{l + 1} \right)^m [k - \alpha\beta k + \alpha\beta - \alpha] \right] \\ &< \sum_{i=1}^k \beta_i (1 - \alpha) < (1 - \alpha). \end{aligned}$$

Therefore $F(z) \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$. □

Theorem 2.10. Let $f \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$. The Komato operator of f is defined by

$$k(z) = \int_0^1 \frac{(c+1)^\gamma}{\Gamma(\gamma)} t^c \left(\log \frac{1}{t} \right)^{\gamma-1} \frac{f(tz)}{t} dt,$$

$c > -1, \quad \gamma \geq 0$ then $k(z) \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$.

Proof. We have

$$\begin{aligned} \int_0^1 t^c \left(\log \frac{1}{t} \right)^{\gamma-1} dt &= \frac{\Gamma(\gamma)}{(c+1)^\gamma} \\ \int_0^1 t^{k+c-1} \left(\log \frac{1}{t} \right)^{\gamma-1} dt &= \frac{\Gamma(\gamma)}{(c+1)^\gamma}, \quad k = 2, 3, \dots, \end{aligned}$$

$$\begin{aligned} k(z) &= \frac{(c+1)^\gamma}{\Gamma(\gamma)} \left[\int_0^1 t^c \left(\log \frac{1}{t} \right)^{\gamma-1} z dt - \sum_{k=j+1}^{\infty} z^k \int_0^1 a_k t^{k+c-1} \left(\log \frac{1}{t} \right)^{\gamma-1} dt \right] \\ &= z - \sum_{k=j+1}^{\infty} \left(\frac{c+1}{c+k} \right)^\gamma a_k z^k. \end{aligned}$$

Since $f \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$ and since $\left(\frac{c+1}{c+k}\right)^\gamma < 1$, we have

$$\sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1)+l+1}{l+1}\right)^m [k - \alpha\beta k + \alpha\beta - \alpha] \left(\frac{c+1}{c+k}\right)^\gamma a_k < (1 - \alpha).$$

□

Theorem 2.11. Let $f \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$, then for every $0 \leq \delta < 1$ the function

$$\mathcal{H}_\delta(z) = (1 - \delta)f(z) + \delta \int_0^z \frac{f(t)}{t} dt.$$

Proof. We have $\mathcal{H}_\delta(z) = z - \sum_{k=j+1}^{\infty} \left(1 + \frac{\delta}{k} - \delta\right) a_k z^k$.

Since $\left(1 + \frac{\delta}{k} - \delta\right) < 1$, $k \geq 2$, so by Theorem 2.1,

$$\begin{aligned} & \sum_{k=j+1}^{\infty} \left(1 + \frac{\delta}{k} - \delta\right) \left(\frac{\lambda(k-1)+l+1}{l+1}\right)^m [k - \alpha\beta k + \alpha\beta - \alpha] a_k \\ & < \sum_{k=j+1}^{\infty} \left(\frac{\lambda(k-1)+l+1}{l+1}\right)^m [k - \alpha\beta k + \alpha\beta - \alpha] a_k \\ & < (1 - \alpha). \end{aligned}$$

Therefore $\mathcal{H}_\delta(z) \in \mathcal{T}_\lambda^m(\alpha, \beta, l)$.

□

REFERENCES

- [1] Al-Oboudi, On univalent functions defined by a generalized *Sălăgean* operator, *Int. J. Math. Sci.*, (25-28)2004, 1429-1436.
- [2] O. Altıntaş and S. Owa. On subclasses of univalent functions with negative coefficients, *Pusan Kyongnam Math. J.*, 4(1988), 41-56.
- [3] Catas A. On certain class of p -valent function defined by multiplier transformations in proceedings of the International symposium on geometric function theory and applications. GFTA 2007 proceedings (Istanbul, Turkey, 20-24 August 2007).
- [4] A.O. Mostafa. A study on starlike and convex properties for hypergeometric functions. *JIPAM*. Volume 10. (2009), Issue 3, Article 87, 8pp.
- [5] N. Ravikumar, L. Dileep and S. Latha, A note on Al-oboudi type functions, *Journal of Rajasthan academy of physical sciences*, vol 9 (2010), 155-164.

- [6] H. Silverman, Univalent functions with varying raguments, *Houston Journal of Math.*, Vol.7, No. 2 (1981).

Received: November, 2011